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Compounds A and B in the following scheme of reactions are:

i N i i OH
then H,O/H*
(9 )

a. b.
3

A | B= ~_OH A=

The reactant A in the following reaction is

\ i) POCl, ]
£/> 882 “hno ~=CHO

™~
o

S S
a. Me-CONHa> b. H-CONMe,
¢. Me,CHNMe; d.  MeCONMe;
The product ‘B in the following reaction is:
S Me
e \( Oubbeest . o6
s hexane 8 254
MeQOC COOMe
a Me b. Me
1 Me Mo
1 [
"\_\/
MeOOC™ “coome MeOOC~ ~COOMe
(o Me d.

Me

MeOOC COOMe
MeOOC COOMe

MnQ; is a very selective oxidant, it does oxidation of only
a.  secondary alcohol b.  primary alcohol
¢ allylic alcohol d.  aldehyde
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14.

16.

17,

18.

19.

The rearrangement of 1,2-diketones to form a-hydroxy-carboxylic acids using a base
is known as

a. Benzil-benzilic acid rearrangement b.  Pinacol-pinacolone rearrangement
c¢.  Wagner-Meerwein rearrangement d.  Wolf rearrangement

The product P in the following reaction is

o & KCN
< >—”—H+< >——“—H RS

ey OO
OH

< OH O d

Ph‘—i——J‘I—OH None of the above

Ph

The reagent involve in Wolff-Kishner reduction is
a.  LiAlH, b.  Zn-Hg/HCI
¢ NH:;NH,, OEt d.  Na, NH;
In McMurray coupling reaction two carbonyl groups form
. < > < i 2 1 -
S rRpiktArion siagle bond > Carbon-Carbon double bond
¢.  Carbon-Carbon triple bond d.  Carbon-Nitrogen single bond

Alkyne when treated with Lindlar’s catalyst produce majorly
a.  E-alkene b.  Z.alkene
<. Both E- and Z-alkene d.  Alkane

Pt/ H; is used as a

a.  Homogeneous catalyst b.  Oxidizing agent
¢.  Catalytic poison d.  Heterogenous catalyst
OH
COOH HiPA-C

For above reaction, the product ‘X" is

A Benzyl alcohol b. 2-phenyl acetic acid
¢.  2-cyclohexyl acetic acid d.  none of these
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rvme and holoenzym

xpected products of th

LiAIH,

3 -
A and B

Mlowing

(1 eqv.)

Pd(PPhjs)4, KOAc, DMF




b. Write down the products of the following reactions 2
Ba(MnQO,) OH
ol R L (I:/ ___’_NaMn(h Product
Water 7 Water
c. Explain the Prevost’s and Woodward’s dihydroxylation reactions 3

with suitable examples.

3. a. How can you synthesise the following using the reaction 2+3=5
mentioned, give mechanism:

o}
(i \ i i
(Mannich reaction)
0]
i) Ph  (Stork enamine method)
b. Write down the product formed in the following rection with 2+3=5
mechanism:
(0]
DRV RIS
i) R/”\R + PRIk ahak e
1 R t-BuOH
2
Ra
==
(i) Rz\‘/kx S g Pd(PPh3)s 2
Ry S Cul, Et;NH
4. a. Write down the structure of product ‘A" and suggest the reagent 3

‘B’ for the following reaction.

0 0
m 1) LDA, THF. -78°C B CT/K’ \&\J
\0/[ Z 2)PhSeBr e SO #
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PrMgBr

IC RT
(O'Pr)4, THF, |

Or




o)
\)OJ\/ KOHea
e & EtOH

OH

CH;lz B + znl
if) 2
Zn(Cu), Et,0

. c H,0/OH
i) R—C-OH D -
R i) NH,OH
iv)] R 2 i) 2 E
) '/\g ii) TsClI
iii) NaOMe
Rz R1
v) \|/\/ BuLi g o HOM'
o H (-60°C)
“fH
Ry

a. Whatis NAD*? Write its structure.

RNH, + HCOS

b. Explain the mechanism of enzyme action.

¢. Write the structure of the following,.
i) Lipoic acid
ii) CoASH

iii) TPP

d. What is Wagner Meerwein rearrangement?

Justify the formation of the product santene from camphenilol

through mechanism.
Me
Me H

OH
Camphenilol Santene

Me

Me
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